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C/C++ 73910 : /N P5n

(1 - 4 M5NY) MINAN MONVYN 4 79,7252 MONY 2 by nayy v

10511 19INAY,IANNHD HW AW TIMYA AISTE TN BIWIY N T Aonw Sy - (3197323 20) 1 990 NOUNY

:TINAN NIOIMMHD 1IN
char *f(char *str){
while( *str I="\0' && *str !="")
Str++;
return str;
}
void g(char *str){
int 1=0;
while(*str!=\0"){
str=f(str);
while(*str=="")
+-+str;
1++;
}
printf("%d\n",1);
}
void main(){
char *str="good luck in question 1";

g(str);
printf("%d", (int) (f(str)-str));

A spnon nysan nn ixpaaon (Mmp 7). N
L TPNPNON NYNIN 1D NINPLNADH (MNP 7) .2
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{0912 19INIY,IYANKN YV AW TIAYE AYotr NN DIWAY N3 11t avw by may - ($1Y 1123 20) 2 9901 NYNY

T nYapnn double average(int *arr, int n) MPIPNS 2IND (MNP 10) (N

DIV DD YNIDND DN PIND 7PIXPNN DT DX (DIVN) OMI90N DY
WO YSINMN 2IYON2 0100 5 0 Pav DI90NN DO YN MDD [, DPIND
100 0 ODYTY IN DXDDYW DR ND DOYNIID

DN 190102 PONDY DIIRN DIDD NN IWND ¥ uNImn Iwnd >1d *
(72532 o»pInh)

noapnn int deleteNonGrades(int *arr, int n) PX¥PND 1IND (MTP)Y 10)
DOIDRN YD DR TIWDNND PNND TSPNON DT NXY DM0N DY TIVN0
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{097 19183Y, NTINDA HY IPWA TIya NroDm NIX DIWIY N 11t avxw Yy - (31Y TV 20) 3 9901 NYNY
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NNINNY 190NN NN P’ NN (long) BYY 1901 VOPD Yapnn N vV
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TONY NN NN ND9THN PYPNS vV

PIYPND YRR PN Nt POyoa
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1051 191N, HIANNN YU IPWN TIYa NraTn DR DIWAY N 11t nbnw by ma - (31979923 20) 4 9901 NYNY

: DININ OINWNIT DTN ,DXRIN DXOYONIN TNXR I 13y
char *strings[5]={"Good","Luck","with", "que.", "4!!1"};
char *strPtr;
Int 1;
IN2N TIPN OO N (MMPI7) (N
for(i=0; 1<4; ++1)
strings[i]=strings[i+1];
for(i=0; 1<5; ++1)
cout<<strings[i]<<"_";
NN MPN OO I (MMPY7) (2
char s[5][5];
for(i=0; 1<5; 1++)
strepy(s[i], strings[i]);
for(i=0; i<4; ++1)
strepy(sli+11], s[i]);
for(i=0; i<5; ++1)
cout<<s[i]<<" ";
NN PN O N (MMPIéE)
for(i=0; i<4; ++1)

"

cout << (*strings +1) << "_";
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VHDL :73 p5n

(5 - 10 MHYNY) MINAN MHRWN 6 7NN ,7a53 MORY 3 by vy v

1053 19IN3Y, HIANAN YV AYYA TINYE D195 NN DIWAY N3 1 ASNY Sy oy - (311 TYD) 20) 5 5991 NYNVY

(TN N2IDINN NN

library ieee;
use ieee.std_logic_1164.all;
entity dff is
port (clk, rst, d: in std logic:;
g: out std logic) ;
end;

architecture rtl of dff is
signal sig: std logic;

begin
process (rst, clk)
begin
if rst='0' then sig<= '1l"';
elsif clk'event and clk = '1' then
sig<= 4d;
end if;
end process;
g<= sig;
end;

library ieee;
use ieee.std_logic_1164.all;
use ieee.std logic_arith.all;
use ieee.std logic_unsigned.all;
entity testbA is
GENERIC (Size: INTEGER:= 4);
port(clk, rst, d: in std_logic;
g: out std_logic_vector (Size-1 downto 0));
end;
architecture for gen of test5A is
COMPONENT dff
port (clk, rst, d: in std _logic; g: out std_logic);
end component;

(others=>'0") ;

SIGNAL gSig: std_logic vector (Size-1 DOWNTO 0):

(others=>'0") ;

SIGNAL dSig: std_logic_vector (Size-1 DOWNTO 0):
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begin
dsig(0) <=d;
out loop: FOR 1 in 0 to size-1 GENERATE
boxs: dff port map(d=>dSig(i), clk=>clk, rst=> rst,
g=>gSig(i));
end GENERATE out loop;

dsig(l)<= gsig(2) XNOR gsig(3) ;
dsig(2) <= gsig(0) XOR gsig(l) XOR gsig(2);
dsig(3)<= gsig(2) WHEN gsig(3) ='1' ELSE gsig(l);

end;
no,ON ,INNIN NIDINTN AINIPAY NOIDIND NN PATNI IPOIND W (MTP 10) (&

17172 OXWIN DY TAPNY XY . MPIN 7DDNN9TN PDIORIVPRIT DI DY DY

, DMWY D900 MIDINN HYY DIRSININ NITO NN DWW v (MmMp) 10) (2

X2 ‘07 ndapn d noom Reset ynn INRD Mayd NONNND NOIWNN IWND
MNap
NN DIYIZ W, IPNINND MPNX OX .DNTNN IR 0IW,TPINOAN R NITO TNYTY DX

TPINYLY D200 91X vy Reset -n INND DINWRIND DXIANNHN 16
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10592 19INAY, ITANNA HY APYA TP NI9TA NN TIWAY N 11T ASNY Sy oy - (T YD) 20) 6 9991 NYNVY

Anput = 710107 : )IN) ©9OYON 92 IWND NN NIDINN NINN
o2 div_by VY91 DY DX MMNIX NN XY DN PPNY NMIRDILV NN DYMOVND W

JPYRIAT NPV NTND DY 29 INP DINTIN/ODIN IV NMND W .count -2
library ieee;
use ieee.STD LOGIC 1164.all;
use ieee.STD _LOGIC _ARITH.all;
use lieee.STD LOGIC UNSIGNED.all;
entity div is
generic (size: NATURAL:= 4) ;
port (clk: in BIT; rst: in BIT;
input: in std logic_vector(size-1 downto 0);
div_by: out std logic);
end div;
architecture div of div is
signal count: std logic vector(size-1 downto 0);
begin
process (rst, clk)
begin
if rst = '1l' then
count<= input;
div_by<='1"';
elsif clk'event and clk = '1l' then
if count = 1 then
count<=input;
div_by<='0";
else
if count < SHR(input,"10")-1 then
div _by<='0";
else
div_by<='1";
end 1if;
count<=count+1;
end if;
end if;
end process;
end;

13 7y 7 Ty



2009 yp 90729

MY NIINNI NP0 PN Y MOV 1D DY Inn May (MMM 10) (N
: D207 NMMNN NN NY DN count -9 O div_by Dw Dy 0w

count div_by

D7YN NN DY NNMIPNY ,NIDINI NVITIND NNYND IR OIWN (MTNP) 10) (2
NN

if count > input + 1 then

1ODOWY 2D NNYY XTND XTI ,009702 11 MY TASYD 0D XD

oM count -9 o2 div_by Sv 107y DWW MY NIANNI DYTN 1930 PIXD 1IN
: D230 NINN NN IS

count div_by

VN
1322 DTN NYNINY 1IN MONNNI NN NP SHR dxpNan .1

N) VPaa ,0793072 12T 7DD DN INND T NORYIA OOV N2 L2
IMDOWY XD
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10912 12INIY, TIANAN W IPYA TIAYA NI9TM NN DIYAY 20 11t AvNw by mmy - (5111 20) 7 9991 nYNVY
:NaAD MPN T2 P

library ieee;

use ieee.std logic 1164.all;

entity sm is
port (resetN, clk, din, restart: in std logic;

dout: out std logic) ;

end sm;

architecture arc_sm of sm is
type state is (pre_ state, bingo, post_ state);
signal present state, next state: state;

begin
process (resetN, clk)
begin
if resetN = '0' then
present state <= pre state;
elsif clk'event and clk = '1l' then
present state <= next_state;
end if;

end process;
process (present state, din, restart)
begin

dout <= '0%';

case present state 1is

when pre state =>
if din = '1' then
next state <= bingo;
else
next state <= pre state;
end if;
when bingo =»>

next state <= post state;
when post state =»>
1f restart = '1' then
dout <= '1"';
next state <= pre_state;
else
next state <= post state;
end if;
when others =>
next_state <= pre state;
end case;
end process;
end arc_sm;
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79010 NN 0IWY Moore W Mealy »on 00 70NN OXD (MNP 7)) (N

207 TRYTY ANON INDNNY DIAINOTH
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1057 19IKAY, HYANNA SV 1WA TmYa 79T NN DIBAY N T Avnw sy oy - (11979173 20) 8 9901 NYNY

: NID PYNNND PN
LIBRARY IEEE;
USE IEEE.STD LOGIC 1164 .ALL;
ENTITY cnt IS
PORT (clk, rst: IN STD LOGIC;

vec: IN STD LOGIC vector (3 downto 0);

ones: OUT STD LOGIC vector (2 downto 0));
END;

11020 NY’NIA DXTNND 190N NN MNADNY 12933 NNTIIND INDY v (MM 10) (N

NINNX D> TAND 19010 NX 1SN W IN 3 -1 D173 D>TNND 190N DX :INYID TIIR]
JDAN 717> VOAN
2y DT TOV NNTXNNN TXD MININY N2IN TN ,DIPININ IO wnnvino amn
CINND vee NN
95350 NAMINY W .DNTXINGT ANNPN IMOPVIIIR POINY v nyd (MNP 10) (2

.VEC NYYNT DY NYTN NOMID NYIN NYY NINN

WY L PINY DD TR YO DYDINNND NPN OPIN UOW Y70 nyanNn POy
T D910 NIDINN N2 NVIWN NN NP2y PA0NY
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1097 12131, NIANNA HY 1YY TIYA N720D NN DIWAY N3 1t ASNw 9y nny - (31YTI(D) 20) 9 99091 NHNY
2T TPIDINN AXIVNY AIDIND DX XD v (M7 10) (N

LIBRARY IEEE;
USE IEEE.STD LOGIC 1164 .ALL;
USE IEEE.STD LOGIC_ARITH.ALL;
USE IEEE.STD_ LOGIC_UNSIGNED.ALL;
ENTITY testO09A_What IS
PORT (clk, rst, inp: IN STD LOGIC;
otp: OUT std logic) ;
END;
ARCHITECTURE arc OF test09A What IS
SIGNAL a, b, c¢: std logic;
BEGIN
otp<= ¢ XNOR a WHEN inp = '0' ELSE
b;
Cc <= b AND a;

process (clk, rst)
begin
if rst= 'l' then
a <= '0'; b <= '1"';
elsif rising edge(clk) then
a <= b; b <= inp;
end if;
end process;
end;
21T TIDIND ANV IININD DN XD W (MNP 10) (2
LTBRARY IEEE;
USE IEEE.STD LOGIC_1164 .ALL;
USE IEEE.STD LOGIC ARITH.ALL;
USE IEEE.STD LOGIC UNSIGNED.ALL;
ENTITY test09B What IS
PORT (clk, 1inpl, inp2: IN STD LOGIC;
otp: OUT std logic);
END;
ARCHITECTURE arc OF test09B What IS
SIGNAL a, b, c: std logic;
BEGIN
process (clk)
begin
if rising edge(clk) then
a <= 1np2; otp <= b XOR a; ¢ <= inpl OR b;
end if;
end process;
b<= ¢ WHEN inpl = inp2 ELSE
a;
end;
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195 19INTY, TIINHA SV TPYN TIBY3 11905 NN DIWAY N 1t avxw by ooy - (DI 20) 10 9901 nHNY

.DNYYD DXOIVN 9YD0N TIP 2INDY MNONR T NoRYA

d1 d | d2 PR

c q ql ¢ q q2

d(1) <= q(2) XOR g(3) XOR g(1);
d3 d q3
T - d(2) <= q(1) XNOR q(3);
c q
N d(3) <= q(2) OR (1) WHEN d(2) =d(1) ELSE
v r | d(l);

DYYIN2 DMINIDN P2XT MAIVN MHIYN

10200 2N d - 50T XY XD g N c=clk :DYwanav oaoivTa .1

(Reset IX Set N : 3997 9oY) r=Reset / s=Set

Signal Zwon mmx ondl, d2, d3, ql, g2,q3 .2

bit non onmmnn 5o .3

TP ITIV NINKN,DPWANN HYY 09103 wnnwno NN .4
NVIDWUN NNNI NIDINN NN PRID NN TR ,TIPY MININX POINT IMn .5
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Set v - 2 .00 9973w 15 WY NI ,Set/Reset -9 *RINK TR IP

,(Clocked Process) 408 12wy 12 M T10 Tonn 9000 Hip 2359 v (MmN 20)
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